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(%&'

１．【
L

】（１）
låÁ�*w/�Çwef]

2E

１：Ｎ＝１．２（ＮＧｋ＋ＮＧ
\

ｋ）＋１．４×ＮＱｋ
＝１．２×（０．４９×０．３７×５．１×１９）＋１９５
＝２１６ｋＮ

2E

２：Ｎ＝１．３５（ＮＧｋ＋ＮＧ
\

）＋１．４ψｃＮＱｋ
＝１．３５（０．４９×０．３７×５．１×１９）＋１９５
＝２１９ｋＮ

（２）
lå/uvw

81

１－１
a³

，ＭＵ１０
,ö

Ｍ２．５
DE%&hn/

ｆ＝１．３０ＭＰａ。
Ａ＝０．４９×０．３７＝０．１８１３ｍ２＜０．３ｍ２

*γａ＝０．７＋０．１８１３＝０．８８１３。
h�,å

，
�õÿ¤~~�γβ＝１．０。

8β＝Ｈ０／ｈ＝５１００／３７０＝１３．８，ｅ／ｈ＝０，a1

４－２，
8´¼N³

φ＝０．７２＋０．７８－０．７２１４－１２ （１４－１３．８）＝０．７２６，
ô

Ｎｕ＝φｆＡ＝０．７２６×１．３０×０．８８１３×４９０×３７０×１０
－３＝１５０．８ｋＮ＜Ｎｍａｘ＝２１９ｋＮ

mr

，
�åÀ}½ùuv

。

２．【
L

】（１）
åD/´wfF

åD

：Ｎ＝２７５ｋＮ　　Ｍ＝１０ｋＮ·ｍ（
ÅáþMÇ

）

（１）
fF��Q

ｅ
ｅ＝Ｍ／Ｎ＝１０／２７５＝０．０３６ｍ　　ｅ／ｙ＝０．０３６／０．３１＝０．１１６＜０．６
（２）

uvwfF

8

ＭＵ１０
T:UV,ö

Ｍ５
DE%&

　
a1

１－１，
³

ｆ＝１．５ＭＰａ
Ａ＝０．６２×０．４９＝０．３０３ｍ２＞０．３ｍ２　γａ＝１．０
１）

Iáþ�]fF

�õÿ¤~~�γβ＝１．０，ôβ＝７．０／０．６２＝１１．３　　ｅ／ｈ＝０．０３６／０．６２＝０．０５８
>Ða1

４－１，
8´¼N³

：

ｅ／ｈ＝０．０５８　β＝１０　φ１＝０．７６－
０．７６－０．７１
０．０７５－０．０５（０．０５８－０．０５）＝０．７４４

ｅ／ｈ＝０．０５８　β＝１２　φ２＝０．７１－
０．７１－０．６６
０．０７５－０．０５（０．０５８－０．０５）＝０．６９４

ｅ／ｈ＝０．０５８　β＝１１．３　φ＝０．７４４－０．７４４－０．６９４１２－１０ （１１．３－１０）＝０．７１２

２）
�þI�]fF

ｅ／ｈ＝０　β＝７０００４９０＝１４．３　φ＝０．７７－
０．７７－０．７２
１６－１４ （１４．３－１４）＝０．７６３

８１



ôåD/uvwa

Ｎｕ＝φｍｉｎｆＡ＝０．７１２×１．５×３０３０００×１０
－３＝３２３．６ｋＮ＞２７５ｋＮ（

½ù

）

３．【
L

】　β＝
Ｈ０
ｈ＝
３６００
１９０＝１８．９５　γβ＝１．１　γββ＝１．１×１８．９５＝２０．８５

ｅ／ｈ＝０　φ＝０．６２－０．６２－０．５８２２－２０ （２０．８５－２０）＝０．６０３

a1

１－４
³

：ｆ＝１．９３ＭＰａ

４．【
L

】（１）（１）
*w�£ ¡fF

*ww;

：

Ａ＝３．６×０．２４＋（０．５－０．２４）×０．４９＝０．９９１４ｍ２

*w¶�ÈÇ

：

ｙ１＝［３．６×０．２４×０．１２＋０．２６×０．４９×（０．２４＋０．１３）］／０．９９１４＝０．１５２ｍ
ｙ２＝０．５－０．１５２ｍ＝０．３４８ｍ
*w¸|Q

：

Ｉ＝［３．６×０．１５２３／３＋（３．６－０．４９）×（０．２４－０．１５２）３／３＋０．４９×０．３４８３／３］＝０．００１１８ｍ４

Ｔ
È*w�©y�

：

ｉ＝槡Ｉ／Ａ 槡＝ ０．００１１８／０．９９１４＝０．１０９ｍ
Ｔ
È*w/�Fõ1

：ｈＴ＝３．５ｉ＝３．５×０．１０９＝０．３８１５ｍ
（２）

��w*+!*w

Ａ
¹g/uvwfF

Ðga���]

，
¦vef]��/��êa

ｅ＝Ｍ／Ｎ＝０．０４５ｍ
ð

ｅ／ｈＴ＝０．０４５／０．３８１５＝０．１１８
ｅ／ｙｌ＝０．０４５／０．３４８＝０．１２９＜０．６
a1

４－１，
8´¼N³

φ＝０．３２６１
mr�º/uvwa

Ｎｕ＝φｆＡ＝０．３２６１×１．５×１０
３×０．９９１４＝４８５ｋＮ＞Ｎ＝４００ｋＮ

mr�º}½ùuv

。

５．
L

：
+

Ｎｌ≤γｆＡｌ'F

Ａ０＝０．１２２４ｍ
２　Ａｌ＝０．０３６ｍ

２　Ａ０／Ａｌ＝３．４　γ＝１．５４＜２．０
ｆ＝１．３ＭＰａ　Ｎｕ＝７２．１ｋＮ＞Ｎｌ＝５０ｋＮ

６．【
L

】　（１）
'Fð�Eu¬"#³��]uvw

I�

（４－１７）
fF

，
P

ψＮ０＋Ｎｌ≤ηγｆＡｌ
９１
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１．１
a³

　　 ｆ＝１．５ＭＰａ
ð�Áw]nwBÈ�P~�η＝０．７。
ð�'1Euá1a

ａ０＝１０
ｈｃ
槡ｆ

＝１９１．５ｍｍ

ð�³��]w;a

Ａｌ＝ａ０ｂ＝３８３００ｍｍ
２

8B

４－２１
³êë"#³��]01/fFw;

Ａ０＝ｈ（ｂ＋２ｈ）＝１６３２００ｍｍ
２

"#³��]01��~�a

γ＝１＋０．３５ Ａ０／Ａｌ槡 －１＝１．６３２＜２
*γ＝１．６３２。
8�T��Çwef]

Ｎｕ*+!PcÆ}ºT

，
äT�÷ø]nwef]a

σ０＝０．５５６ＭＰａ
T�¦v��~�

ψ＝１．５－０．５（Ａ０／Ａｌ）
8

Ａ０／Ａｌ＝４．２６１＞３，ä*ψ＝０，ô
ηγｆＡｌ＝６５．６ｋＮ＜ψＮ０＋Ｎｌ＝８０ｋＮ
ä³��]uvwÀ�pkl

。

（２）
'F!ð§e�É#(DZ[�Gg/³��]uvw

*�G�

ｔｂ＝２４０ｍｍ，÷wüý

ａｂ×ｂｂ＝２４０ｍｍ×６５０ｍｍ，ô�G\ðþ�J�¶µ

２０５ｍｍ＜ｔｂ＝２４０ｍｍ，©Ekl

。

I�

（４－１８），
P

Ｎ０＋Ｎｌ≤φγ１ｆＡｂ'F

。

Ôa³

ｆ＝１．５０ＭＰａ。
�Gw;a

Ａｂ＝ａｂｂｂ＝１５６０００ｍｍ
２

êë"#³��]01/fFw;a

Ａ０＝２７１２００ｍｍ
２

６５０＋２×２４０＝１１３０ｍｍ＜１２００ｍｍ
"#³��]01��~�a

γ＝１＋０．３５ Ａ０／Ａｌ槡 －１＝１．３＜２
*γ＝１．３，ô³�Gû"#w;/'Òêë~�a

γ１＝０．８γ＝０．８×１．３＝１．０４
�Gw;

ＡｂT��Çwef]a

Ｎ０＝σ０Ａｂ＝０．５５６×１５６０００×１０
－３＝８６．７ｋＮ

Ｎｌ＝８０ｋＮ　　Ｎ０＋Ｎｌ＝８６．７＋８０＝１６６．７ｋＮ
σ０／ｆ＝０．５５６／１．５０＝０．３７１
a1

３－５，
8´¼N³

δｌ＝５．９６

０２



 |�GT1wð�'1Euá1a

ａ０＝δｌ
ｈｃ
槡ｆ

＝１１４ｍｍ

l

Ｎ０öＮｌEwh�GÈ�/��ê

ｅ：
Ｎｌh�GÈ�/��êa

２４０／２－０．４×１１４＝７４．４ｍｍ
Ｎ０*+��GÈ�

，
ô

ｅ＝（Ｎｌ×７４．４）／（Ｎｌ＋Ｎ０）＝３５．７ｍｍ
8

ｅ／ｈ＝ｅ／ａｂ＝０．１４９，β≤３，a1

４－２
³

φ＝０．７９２
8�

（４－１８）
³

φγ１ｆＡｂ＝１９３．９６ｋＮ＞Ｎ０＋Ｎｌ＝１６６．７ｋＮ
�p³��]kl

。

７．【
L

】
81

１－８，̈
^+

Ｍ１０
@_%&g

ｆｔ＝０．１９ＭＰａ。
*

１ｍ
�¾�fF

，
8�

（４－２９）
³

ｆｔＡ＝０．１９×１０００×ｈ×１０
－３≥８０ｋＮ

ｈ＝４２１ｍｍ，
*

ｈ＝４２０ｍｍ。

８．【
L

】Ａ＝０．３１０×１．０＝０．３１０ｍ２＞０．３ｍ２

γａ＝１．０
81

１－８，̈
^+

Ｍ１０
/@_%&g

ｆｖ＝０．１７ＭＰａ　a1

１－１ｆ＝１．８９ＭＰａ
σ０＝（７２×１０

３）／（３１０×１０００）＝０．２３２ＭＰａ
σ０／ｆ＝０．２３２／１．８９＝０．１２３
a1

４－５
³

，αμ＝０．１４８ô
（ｆｖ＋αμσ０）Ａ＝（０．１７＋０．１４８×０．２３２）×３１０×１０００×１０

－３＝６３．３ｋＮ＞Ｖ＝６０ｋＮ
Ð­©Eì²uvw/kl

。

９．【
L

】　１．
lº#/æó´w

（
*

１ｍ
/ºâafF«�

）

Ｍｍａｘ＝
１
２γＨ

２×Ｈ３＝
１
６γＨ

３＝４．５７ｋＮ·ｍ

Ｖｍａｘ＝
１
２γＨ

２＝９．８ｋＮ

２．
º#uvw'F

a1

１－８
³

ｆｔｍ＝０．１４ＭＰａ　ｆｖ＝０．１４ＭＰａ
（１）

ì±uvw'F

Ｍｕ＝ｆｔｍＷ＝０．１４×１０
３×１６×１．０×０．６２

２＝８．９６９ｋＮ·ｍ＞Ｍ＝４．５７ｋＮ·ｍ

１２



（２）
ì²uvw'F

Ｖｕ＝ｆｖｂｚ＝０．１４×１０
３×１．０×２３×０．６２＝１１５．７ｋＮ＞Ｖ＝９．８ｋＮ

２２


